


Hl & 0l & A S F Al A
0218 204 LetalH e
FA 23
i [oEy 2H
=Rl AHed AL 2tel (ctel: &
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
28 16,306,596 18,733,153 AN2,426,557
= 3,660,310
Jl 22,410
S 2,598,468
= 10,025,408
Aoed 28 71,500 58,000 13,500
AHEE AL 2 71,500 58,000 13,500
ZRESIZAU 29 7,000 8,000 A 1,000
201 fet2 4| 7,000 8,000 A 1,000
02 3323 7,000 8,000 A 1,000
OB Z Al & =X2eldl  7,000,000& 14 7,000
= HEHOIE =2 A 42,000 0 42,000
101 2124H| 10,000 0 10,000
04 JIZtN 22 NS+ 10,000 0 10,000
OF Qe Q12| 100,000 x5 x20 10,000
201 Zet=dhl 10,000 0 10,000
01 At 22l 10,000 0 10,000
ORAl&clE FHIS= 10,000,000 141 10,000
207 AN I 22,000 0 22,000
01 27 EHH 22,000 0 22,000
OMSMEHSHAY Al= ZLIHE S
22,000,000& * 14| 22,000
SsAE2SXd 22 22,500 50,000 A27,500
207 AN I 22,500 0 22,500
01 A= 4 22,500 0 22,500
OF NF SNLSNE 28 U SR 2
g29(38) 22,500,000 14| 22,500
HERH 2 308,200 165,350 142,850
= 69,800
S 66,410
= 171,990
Ofds= 2tel 308,200 165,350 142,850
= 69,800
S 66,410
= 171,990
OrES= LIGHOIZAIEZ EXIALY 39,600 40,200 A600
= 19,800
< 3,960
= 15,840
402 12t X=01 ™ 39,600 40,200 A600
= 19,800
< 3,960
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FA 23
I dEH 24
el ordsE 2l (&= 8d)
P = N
SA-BY.SASH) - RN - B ol &t S HIDE
o 15,840
02 QX2 AMLER(OIXTHE) 39,600 40,200 A600
O0tds= UallAE XX
39,600,000& 14! 39,600
= 19,800
& 3,960
i 15,840
OfdSZE LIH2&XE At 42,000 50,250 A8,250
& 12,600
= 29,400
301 2283 42,000 50,250 28,250
S 12,600
= 29,400
12JIEt24a= 42,000 50,250 A8,250
OOt =0l 2let s&= Lol2d=s
42,000,000 * 14} 42,000
& 12,600
= 29,400
=olfz=4 LloHoY 2el 124,600 72,900 51,700
& 24,850
= 99,750
202 (4l 1,000 0 1,000
01 =W OHI 1,000 0 1,000
OltdsE IFFN 20,0002 *52] *10& 1,000
206 M =H| 7,000 6,000 1,000
01 M =Hl 7,000 6,000 1,000
OBz 22 & TS 0 HX MH
7,00021,000H 7,000
301 LBtENS 116,600 66,900 49,700
& 24,850
= 91,750
12JIe2d= 116,600 66,900 49,700
o828z Nd= 138,000 «50& 6,900
OltdsSE ZE+TE Fd=3
60,000, 0003 14! 60,000
OASF 28 SHAAtE OFMSUEHAl Z2lE A S
49,700,000 14| 49,700
& 24,850
= 24,850
Oris= lIlol 24X 2,000 2,000 0
301 LBtENS 2,000 2,000 0
12JIe2d= 2,000 2,000 0
O0td=s=0 2t AFE ol 23
2,000,000& * 14! 2,000
ASF 2t =tARXtE 100,000 0 100,000
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SN BB
HE: ME 2
ool OfMSE e (et ®8)
- _ - &E
SA-F3H - SA(ZA) - HRAY - BES Off &F o4 'Oﬂ'@oEu Hws2
= 50,000
= 25,000
2 25,000
201 LBttt 100,000 0 100,000
2 50,000
= 25,000
2 25,000
01 AR 2t2lH] 100,000 0 100,000
OASF 2 SHAXIEH ORASISHTI ARKIX 2l
100,000, 000! 14! 100,000
2 50,000
= 25,000
2 25,000
~38y 2ol 275,286 520,251 244,965
= 118,173
2 157,113
sz e 275,286 520,251 244,965
= 118,173
2 157,113
LA L YA 275,286 520,251 244,965
= 118,173
2 157,113
201 L2t 12,940 12,740 200
01 At 22l 11,800 1,600 200
OGtE+ +BAMS4E 350,0002 <42 1,400
O+HHAD YRHH 7Y
4,000,000% * 144 4,000
OMLITHAHMRIAIE +HHA 242
30,0002 * 1005 3,000
OSSISE T20Y A8R
3,400,000% 13| 3,400
02 B2 1,140 1,140 0
OMLITHEHMRIAIE HREL HYS PBE &
=1 3802 +1,5005 %25 1,140
202 04 b 2,000 2,000 0
01 2UHOTHI 2,000 2,000 0
OFZAN L H4, 24 BPAL A2 X7
50,0002 %221 %203 2,000
207 AL HI 24,000 0 24,000
01 I RE | 24,000 0 24,000
OINEASHE 2% NHEH MDA 8
24,000,002 * 14! 24,000
307 ©I12H0| & 236,346 303,689 ~67,343
= 118,173
2 118,173
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A SAY
MM EEH 2o
e xS 22 (el &2
_ - bS]
A4 (3H) - HEMY - BHAS Ofl AFoH oﬁ'&% Hunsz2
02 QI2HHAAI B X 236,346 303,689 NAB7,343
OMelstExeleld fst2e N (SF2SH)
236,346,000 * 1Al 236,346
[= 118,173
= 118,173
sz 258 1,536,540 906,210 630,330
= 842,200
[= 158,640
= 535,700
toletd Ha 1,536,540 906,210 630,330
=2 842,200
[= 158,640
= 535,700
SIAMMREZ 22l 11,240 12,740 21,500
201 LBt AH| 11,240 11,740 A500
01 AL 22/ H| 2,500 3,000 A500
OAMERYZ DM 2
75,0002 x208+ A 1,500
OBHME2L2 AALOIIAHF)SE 2
1,000,000 * 14l 1,000
02 222 8,740 8,740 0
OSAMNHELZ DIN QEES L0
38021 x5,000E 23] 3,800
OAMEBYZ SE2DIAN SES U0
3802 +6,500E *23] 4,940
g =5 35,000 33,000 2,000
[= 10,500
= 24,500
201 LBt AH| 35,000 33,000 2,000
[= 10,500
= 24,500
01 AL 22/ H| 2,000 0 2,000
OFAHE 0I2AA AUZIIZE EHIAAY
500,000 *4JH A 2,000
[= 600
= 1,400
02 =223 H 33,000 33,000 0
OWIIE=EA QX Z2lHl L HMA
2,750,000 « 122 33,000
[= 9,900
= 23,100
AR HHSIHA M2 ALY 1,190,300 589,470 600,830
=2 692,200
[= 148, 140
= 349,960
201 L2 A H| 4,300 1,900 2,400
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S BB
o 24
el tio18&d e (che &S
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
01 At 22|l 2,400 0 2,400
OL=ZRX ZIIHX JIEItH AHE 22|
6,000& »250A 1,500
O2HTEStA MZEIX HSSIHA ==
=3 30,0002 *30CH 900
02 2322l 1,900 1,900 0
OHIUIEILA HZAIY QHHZ2 QB2 €S
CH 380& *2,5005 23| 1,900
301 YPYBNZ 640,000 402,000 238,000
= 384,000
L= 76,800
= 179,200
12IIEtE2EA3 640,000 402,000 238,000
OL=HKA EIIHX XA
1,600, 000 *400CH 640,000
= 384,000
& 76,800
o 179,200
402 QI+ X201 546,000 185,570 360,430
= 308, 200
L= 71,340
o 166,460
02 QI RH2ALS E X (OIE ) 546,000 185,570 360,430
OZRA=sxt HAMZEX £ KA
3,800,000& *30CH 114,000
= 57,000
& 17,100
o 39,900
OALIIH MHHMZEX 2= NJAAS
11,000,000 *2CH 22,000
= 13,200
L= 2,640
i 6,160
OAHEIIA AR XIRAAS
16,500,000 *20CH 330,000
= 198,000
& 39,600
o 92,400
OLPGSIE X &It KIRALY
4,000,000 *20CH 80,000
= 40,000
L= 12,000
i 28,000
T2 THHIARH X HZEAr 300,000 0 300,000
= 150,000
i 150,000
405 KHobFE SHI 300,000 0 300,000
= 150,000
i 150,000
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A SF
o 24
el to1gd e (el &3
- _ - &
SA - ZH - SA(SH) - MRAY - BES 0l el S HRE2
01 Xt 2 SFHSHI 300,000 0 300,000
OEZ MUIAHX H@AXE 2
300,000, 000& » 14! 300,000
= 150,000
i 150,000
SEEA 2 1,190,330 759,507 430,823
= 62,000
& 18,400
s 1,109,930
SEaBNES KA 108,000 88,800 19,200
= 62,000
< 9,400
s 36,600
NAHSES 5,000 5,000 0
203 PR F2AY| 2,000 2,000 0
03 Al =X 2= XH| 2,000 2,000 0
OSZBESHAH AMES 2,000,000& 14! 2,000
206 M =4I 3,000 3,000 0
01 M=l 3,000 3,000 0
OXAEs &S FHl 7Y 6,000 *5Z* 1004 3,000
szt @A 2l 1,000 1,800 A800
301 LB F 1,000 1,800 A800
09 HALAHIXIAZ 1,000 1,800 A800
ONABSNERE H= &It
100, 000& 501 %23 1,000
SN MFA QI2F B4 2,000 2,000 0
301 YPYBNZ 2,000 2,000 0
12 JIEtE A3 2,000 2,000 0
OZAELD Al T4 1,000,000 14! 1,000
OlfMsAlZ Al ZaZ 1,000,000 14! 1,000
ot& & StpMy Dl Est 60,000 60,000 0
= 42,000
< 5,400
s 12,600
101 Q124 H| 58,500 58,000 500
= 40,950
< 5,265
i 12,285
04 JI12tM22sEx 58,500 58,000 500
Ogid otd & ot Meldl Aty
58,500,000 14! 58,500
= 40,950
& 5,265
s 12,285
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SN B#HL
HH: BADSH el
ol BEEXES X9 (ol @2
- _ - &E
SA -3 HAGA) - HEAY - BES Ol & oK 'Oﬂ'@oEu HuE2
201 LEH2 & 1,000 1,000 0
= 700
= %
= 210
01 AR 22| 1,000 1,000 0
O5HE L 5t M| FIAY A2E 2
1,000,000& *14] 1,000
= 700
= %
2 210
202 04l 500 1,000 A500
2 350
= 45
= 105
01 24018 500 1,000 A500
OLHA BH& o 517 MJ| FEAIY AL
F& 0o 50,0002 x2H«50H & 500
= 350
= 45
= 105
MEHH wetES MA EIXIALY 40,000 20,000 20,000
2 20,000
< 4,000
= 16,000
401 AIEBIZ 2 THH) 40,000 20,000 20,000
2 20,000
< 4,000
2 16,000
01 AI&HI 40,000 20,000 20,000
OMEHHLES MAHAZ 40,000, 000& *14] 40,000
= 20,000
= 4,000
= 16,000
Bl 25Ha 1,082,330 670,707 411,623
= 9,000
= 1,073,330
szsza 22 1,052,330 640,707 411,623
101 Q1218 83,478 66,600 16,878
VBIEDEEP TP 83,478 66,600 16,878
OZEHBA A& NS4 L ASYe |2
22X l24H| 83,478
oJlga 91,0503 *2H 260 47,346
O=s=¢ 91,0503 x2H x52 9,470
OEP RS 91,0502 #2% » 1224 2,186
OFY+g 136, 5752 +22 602 16,389
O=od3 23 75,390,000& 0.045 3,393
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231
BASH B
StEd 23 (el &
. N
SA - EHH . C(S) - MRAY - BAS S HI DS
Oxd2e FE= 75,390,000& *0.0343 2,586
O1lEs=28 FE= 75,390,000 +0.0165 1,244
O&tEE 2= 75,390,000 *0.00948 715
oFIIeY 282 2,586,000& *0.0576 149
201 fet2d| 833,852 178,250 655,602
01 AtR2telH 163,000 98,250 64,750
O3SaEA Fatx A ¥ 2= Hel
36,000,0003 14 36,000
O4d=J] H=,5td OlsAsEA A
7,500,000 xS+ 12 60,000
oz 24d EE= AH
60,0002 *509 A 3,000
OsS=tadd Al FHl Sl
900,000 504 2= 45,000
OZ=sEA X 2 A8 22|
19,000,000& 14 19,000
02 3323 670,852 80,000 590,852
O3 5523 & HAl
110,000,000 14 110,000
OsS=84d RS HEF LA
12,000,000& 14 12,000
osszas FA EY 548,852,000 * 14| 548,852
202 04l 2,000 2,000 0
01 =W oddl 2,000 2,000 0
o=saad gf = 2,000,000 =14 2,000
206 M= Hl 45,000 43,000 2,000
01 =l 45,000 43,000 2,000
ossae 42 L HASS 7Y 45,000
OZE3IIA %42 U HOSE
600,000 x50 2= 14 30,000
OMBSTA FE U HIASE b=
100,000 «7504 2= %23 15,000
401 Al HIZ SO 88,000 73,500 14,500
01 Al€H| 88,000 73,500 14,500
o=saF A& 14,500,000 =4I 2= 58,000
o=saas EA 30,000
OLHH+SH stZa &
16,000,000& =14 16,000
ONPH+SH sZa 2a202 B
14,000,0003 =14 14,000
OIStz s8384 =4 30,000 30,000 0
& 9,000
= 21,000
401 Al HIZL 20l 30,000 30,000 0
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FA 23
Y BABH e
& StEA 2SS (che &S
P = N
SA-BY.SASH) - RN - B ol &t S HIDE
S 9,000
= 21,000
01 Al&Hl 30,000 30,000 0
ECHaSE BIIHTA L4
10,000, 0003 14| 10,000
& 3,000
i 7,000
OSMBXIRFEXE BEHTA 24
10,000,000 141 10,000
& 3,000
= 7,000
OLMCKRFEXE BEHFA 4
10,000,0003 141 10,000
& 3,000
= 7,000
HolE 22 12,512,816 15,976,136 A3,463,320
= 2,686,310
Jl 22,410
S 2,217,045
= 7,587,051
HIl2 2 660,511 625,990 34,521
= 4,250
& 2,100
= 654,161
Ml SEN 28 412,840 398,040 14,800
201 223yl 33,200 30,200 3,000
01 At 22l 17,200 14,200 3,000
OMYIISEM 2 AEH & 222 WA
4002 5, 0000H 2,000
OMDl HHERYE 2UYs X S23Y MH
20,000 » 1504 3,000
OMAIESE AtS FLHE M=
100,000 1204 2 1,200
oMyl HEg= s E2=S MA
400 %10, 0009H 2 4,000
OUIMXI M IISEH F& LB M
150,000 209K 2 3,000
OSsASMY D Z2eltE EEZ2E A
4002 %10, 0000H 4,000
02 3323 16,000 16,000 0
ORE=E ¢ 1,000& %1,0000H 2 1,000
Os8AlE+A g sAlZeldl
15,000,000 141 15,000
202 (4l 6,640 6,640 0
01 =W oddl 6,640 6,640 0
osASMYI| SIEtHel 4P ST
16,6002 »2Q1 %2002 6,640




S BB
F: Holg 22l
S Hol2 2 (che &S
= = — X L=
SA SR (S) - MRAY - BAS il &t e RS2
206 XH =4I 162,000 142,000 20,000
01 HZdl 162,000 142,000 20,000
OSA=SEM =FHE 30,000,000 14! 30,000
o2a2MdJ| =HEI| 2 70,0002 10074 7,000
OMUDISEHM =5 MZ 125,000,000 14! 125,000
307 QI2+0I A 144,000 124,200 19,800
05 QIZtRE S 144,000 124,200 19,800
OsalEMdIl A€l 160,000& *900= 144,000
401 Al HI L2 0HHI 45,000 69,000 224,000
01 Al&HI 45,000 69,000 A24,000
oMl HHE&A A &X
3,000,000 =150 &~ 45,000
405 KHobFE SHI 22,000 0 22,000
01 XAt R =S SFHSHI 22,000 0 22,000
O33J|& SASMY DIl 28I ¢
5,500,000 =4CH 22,000
SYHEI| &¢Xl 31,400 18,200 13,200
201 et gy| 4,200 4,200 0
01 AL 22l bl 4,200 4,200 0
OQHJIIE 2¥SI| YX eter &
80,000 *15JH 2= %13l 1,200
OLZHAIZ HOIS HHEEA XE oHUE M
150, 000 & *20JH 2= 3,000
301 YPYBNZ 2,000 2,000 0
12JIEt2 43 2,000 2,000 0
OMYIIEINA &0 BA= 100,000& *202] 2,000
401 A& HI YL 20| 25,200 12,000 13,200
01 Al&HI 25,200 12,000 13,200
oMl EYEIl 014 SAZAIEX 4X
4,200,000 =6CH 25,200
DIE MHes 24 90,250 59,250 31,000
201 LBr2Fd| 2,000 2,000 0
01 AL 22l bl 2,000 2,000 0
OMes s+ 2 ME
50,0002 *200H 2 %13 1,000
sZEHJI2 2el=H 222 M
50,0002 *200H 2= %13l 1,000
206 M =4I 21,250 21,250 0
01 HZdl 21,250 21,250 0
OMeEE Zel=HE e 200,000 & *20H 4,000
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2N B
g3 HolE 2el
ool HIIZ 2 (et ®8)
. N
SA-BY.SASH) - RN - B ol &t S HIDE
OHEZE HAXA 28 7o
300,000 304 9,000
oMgss Ecl=H 1=% N
3,300 *2,5000H 8,250
301 2et2d3 60,000 36,000 24,000
12JIEt2a= 60,000 36,000 24,000
ongss =8 24= 25,0003 *1,200& 30,000
OZYM 24012 243
2,500,000 * 1274 A= x12] 30,000
303 &= 7,000 0 7,000
01 2&ats 7,000 0 7,000
OMEEE 4 245% Ty
7,000,0003 14! 7,000
18183 &¢ 1,000 1,000 0
201 2=yl 1,000 1,000 0
01 At=2t el 1,000 1,000 0
o188 =017 dUHEE= WA
4002 2, 5000H 1,000
Metety 2 13,771 138,100 A24,329
101 14| 92,871 97,200 4,329
04 JIZtN 22 NS 2+ 92,871 97,200 A4,329
OBt&EJ] JIZtH Faels elAy|
91,0502 x17& *60& 92,871
201 £et2E| 5,000 5,000 0
01 AtR2telH 5,000 5,000 0
OHl4=H)| - HEES Xl =+&
1,000,000& *52] 5,000
202 (4l 900 900 0
01 =W OHI 900 900 0
OMEBSHE YREX 50,0002 +201 %93 900
207 AN EHI 15,000 0 15,000
01 A= 4 15,000 0 15,000
oYz SHNEFHII=2 LYAN HE+E 8
A 15,000,000 14} 15,000
SEHHE =024 X 1,250 1,400 150
= 1,250
301 LBtENS 1,250 1,400 A150
= 1,250
RIIBENS 1,250 1,400 A150
SEZEHHE =8 24= 103 %125,000kg 1,250
= 1,250
ssdotd &&s XN 10,000 10,000 0
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2N B
g3 HolE 2el
mols 2 CHo|: & &
P = N
SA - E . CR(S) - MTA - S HI DS
= 3,000
& 2,100
= 4,900
401 Al HIZ SO 10,000 10,000 0
= 3,000
& 2,100
= 4,900
01 Al€Hdl 10,000 10,000 0
OsZutle ssdotd
5,000,000 29 £ 10,000
= 3,000
& 2,100
i 4,900
Ao 401,020 626,580 A225,560
= 188,060
Il 22,410
S 1,245
i 189,305
=diOIE MelX& 357,620 610,300 A252,680
= 178,810
i 178,810
402 212t X =01 & 357,620 610,300 A252,680
= 178,810
= 178,810
03 2I2t2EFAIE 357,620 610,300 A252,680
O=Z0IE HMel &L HE At
357,620,000 * 14! 357,620
= 178,810
i 178,810
SHLH2H S0 24,900 16,280 8,620
Jl 22,410
& 1,245
= 1,245
301 Let2d3 24,900 16,280 8,620
Il 22,410
& 1,245
= 1,245
01 Al Ed XM +dl= 24,900 16,280 8,620
oAl #H=0 12,450,0003 x2& 24,900
Jl 22,410
S 1,245
i 1,245
=cl01E AEHEZAF A 18,500 0 18,500
= 9,250
i 9,250
402 212t XH=01A 18,500 0 18,500
= 9,250
i 9,250
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2A:
PSP
C|—O|:

SA .S (S) -

M AL

HyS

Off &F o4

=[x

i
J12H

18,500, 0003 * 141

A

18,500

18,500

9,250
9,250

SEHIIE MelAE x=d

H A

11,404,603
2,494,000
2,213,700
6,696,903

14,692,566

23,287,963

sO0E HIISXIAE £X

H

1,491,000
231,000
630,000
630,000

4,600,000

23,109,000

401 AIEHIZL R 0HYI

M H

1,491,000
231,000
630,000
630,000

4,600,000

23,109,000

01 AI&HI
O=s0lE HIISHelAld

02 Zeltl
O=s0E HIISXlAIL

03 A& =0
Os0E HIISHEAlE

SEAY

1,311,000, 000& * 14!

H A

xl\—i /\I.

176,000, 000& * 14!

H A

,000,000& * 14

HH W

1,311,000

1,311,000

197,000
557,000
557,000

176,000

176,000

33,000
71,500
71,500

4,000

4,000
1,000
1,500
1,500

4,142,000

451,000

7,000

2,831,000

A275,000

23,000

HO

BANAME 2

4,371,603

3,835,566

536,037

101 el 24|

105,045

101,684

3,361

04 JIZHZ2 2SS E =+

o

O
S~
Mt
c

O

300

O

on

>

O
0 oy oR

o

O

R O e Y
=

0 o0p op

o ou ol

0¥ 0R
KR 0 4>

0

O

0
TR

O
2=
=

OB AAHE FUZAIR el

91,0503 +3Q1 x263!
8,000& *32! %263
91,0503 »3Q1 %51
91,050 »321 %102/

95,360,000& x0.045

95,360,000 »0.0165
95,360,000& »0.0343
95,360,000& *0.00948

105,045
105,045
71,839
6,312
13,931
2,732
4,292
1,574
3,271
905

101,684

3,361
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S H:
7(‘| il—l:
C|—O|:

SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
OFIIeLEES= 3,271,000& *0.0576 189
201 Zet=dhl 81,800 89,606 AT7,806
01 At 22l 10,400 20,606 210,206
ogg=E4| 7,000,000 14 7,000
ORXot=ZHAE =2BA =&
850,000 42 3,400
02 s5=3H 71,400 69,000 2,400
osE2= & HMA 1,700,000& 123 20,400
OAEEHIR X 23,000,000 14| 23,000
Ooxtg |XlZeltl 23,000,000 14| 23,000
O=2g&H Egx= 5,000,000& * 14! 5,000
202 044 700 700 0
01 =Woddl 700 700 0
OmHJI=xel FR=4 50,000& »1Q1%142] 700
206 TH=H| 57,000 56,400 600
01 =4l 57,000 56,400 600
oMEgE3 Ot + 6,000& *1,2000H 7,200
ogaitAl P 2,000& 9004 1,800
oasH Y 25,000 *1,000H 25,000
OgHM 7 50,0002 »3004 15,000
OFHIIE Y%= 7Y 32,000 *250 4 8,000
207 AN E I 20,000 0 20,000
01 A= 4 20,000 0 20,000
OAAAIL QIZASIE ANFARY
20,000,000 14| 20,000
307 eI2tol & 3,450,058 3,152,176 297,882
05 22t E= 3,450,058 3,162,176 297,882
O=tF Y &2l
2,831,173,000& * 14 2,831,173
OMEES ScldEAIY 618,885,000 * 14! 618,885
308 AHXIEHHMSOI S 182,000 182,000 0
12JIeRg= 182,000 182,000 0
oHlIExERE=2 182,000,000 * 14 182,000
401 Al HIZL 20l 475,000 210,000 265,000
01 Al€H| 475,000 210,000 265,000
oMass dEY=J| EH 30,000,000 *14] 30,000
ONEE=E ZHIUX(HSL)
10,000, 0002 14| 10,000
ONYHSE ZHIAUR(EZ)
10,000, 0003 14| 10,000
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SA
X XH .
(== I

EEE

o = o
I S oy

|
FHDOI2 HMelAld =4

!
x
r

CEHB . C(SIH) - NIRAIY - BES

&

04l 4 o

=[x

i
J12H

OA2EE =1t BHYHIIS XMelAtY
62,500 *4,000m*
OHIJISHeIAE (A2 1Y) E3At
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OSATAMH FU=JAAL (MEel)
60,000,000 * 14!
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115,000

60,000

Mg d] a2 AIE EX

HH W

4,773,000
2,032,000
1,422,300
1,318,700

6,157,000

A 1,384,000

401 Al HI LSO

H R

4,773,000
2,032,000
1,422,300
1,318,700

6,157,000

21,384,000

01 AI&HI

OHIIEXelAIE (A2) XA
4,143,000, 0003 * 14!

02 Zeltl

OHIISHMelAlE (&2F) EXIAY
610,000, 000& * 14!

03 AIZ 20 bl
OHIISHMelAlE (&2F) EXIAY
20,000,000& * 14!

M H M H

H

4,143,000

4,143,000

1,843,000
1,290, 100
1,009,900

610,000

610,000

183,000
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298,900
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6,000
4,100
9,900

5,490,000

650,000
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ASFRHIIZS SSHelAE EXAE
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769,000
231,000
161,400
376,600

100,000

669,000

401 Al HI LSO

HH W

769,000
231,000
161,400
376,600

100,000

669,000
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667,000, 000& 14!
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667,000
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200,400
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SA - ZH - SA(SH) - MRAY - BES 0l el S HRE2
OSASFRHIIS SSHelAE EXAS
100,000,000 *14] 100,000
= 30,000
& 21,000
i 49,000
03 A€ 208l 2,000 2,000 0
OSASFRHIIZS SSHelAE EXAS
2,000,000& 14! 2,000
= 600
< 400
i 1,000
S% Hgd 2 39,000 31,000 8,000
S8 MADIHEE SX2el 39,000 31,000 8,000
101 214 H| 9,400 9,400 0
M4 JIZtHZ2XREE 9,400 9,400 0
OSHMEX M=ZY 212 100,000 940! 9,400
201 et Fy| 29,600 21,600 8,000
01 At 2teltl 27,600 19,600 8,000
OSHME X &HHl X2 2,000,000 *1IH A 2,000
OSHUMEX &&= Al 800,000& x253] 20,000
OEscl MHEgZ RAME dR=
4,000,000 *1JH 2 4,000
O&tuel HEgd RAME Xz
1,600,000 *1JH 2 1,600
02 222l 2,000 2,000 0
OSHME X AERXUI 2,000,000 * 100 2 2,000
THoH = A 7,682 0 7,682
HOISHMelAlE Hol=7A (XHA) 7,682 0 7,682
401 Al HI L2 0HHI 7,682 0 7,682
01 Al&HI 7,682 0 7,682
OHDI2 (Kg2el) o= A
7,682,000& 14! 7,682
MY 2HAL(EE L) 381,924 325,699 56,225
& 19,800
s 362,124
ol 2| (st& 1) 327,756 271,687 56,069
& 19,800
s 307,956
ol 2| (23 ) 137,017 85,754 51,263
101 214 H| 137,017 85,754 51,263
01 2= 83,259 85,754 N2,495
oxU2R=¢ 10,8413 x 1621 *480Al 2+ 83,259
03 RIIAHA2 2 E += 53,758 0 53,758
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M #M2ARY| (22 D)
cHel: ol gy (23D (St A2
SA B SRA(EH) - MTAY - BAS 0f &t e HIDE
FEENEENTEL] 500,0002! +38% * 13| 19,000
CEENEEE TR
19,3102 #1.5%401+25A| 2k %122 34,758
JESEZANU 28 U2Y 190,739 185,933 4,806
= 19,800
= 170,939
101 2124H| 190,739 185,933 4,806
= 19,800
= 170,939
03 RIAHS=Z 2N E = 190,739 185,933 4,806
oxZSIZAU 24 190,739
oJles 2,193,810& x4e1+ 128 105,303
= 19,800
= 85,503
ogz2+g 1,096, 9053 #23| x42! 8,776
OF R =] 140,000 #4e1 128 6,720
O&dd=¢ 110,000 x4 1« 12& 5,280
Ooola+g 60,0002 401 %12 2,880
OAlZtel =&
13,3002 *20Al 2 %123 % 150%+4 2! 19,152
Og A A 130,000 4L+ 12 6,240
Og &=l 1,316,286 23| x4 2! 10,531
ONE=g 1,920
—HH Xt 40,0003 x121%12& 480
-F2 20,0003 401 %128 960
JE 20,0003 201 x12& 480
OS2 &l 106,400 x 102 »401 4,256
Ooegs 18,481
-=03=s 173,186,000 *0.045 7,794
-1IEEE 173,186,000& *0.0165 2,858
-23=2E 173,186,000 x0.0343 5,941
IS 5,941,000&+0.01152 69
““HESERE= 173,186,000& *0.0105 1,819
Ol =Hl 300, 000& *4¢! 1,200
=l (22 D) 54, 168 54,012 156
Jl2ZHI(ed ) 54,168 54,012 156
201 2Bt | 29,768 29,612 156
01 At 22l 29,768 29,612 156
ogeg+=E4| 17,720,000 14| 17,720
o=gtl 6,912,000& * 14! 6,912
(©)=bNj=3 5,136,000& * 14! 5,136
202 044 19,600 19,600 0
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01 =L YI 19,600 19,600 0
OYRFA JI20HI 19,600, 000& » 14! 19,600
203 HRF&H| 4,800 4,800 0
04 EN2SLRFAH| 4,800 4,800 0
OFRA2IHRF2AY| 400,000 x12& 4,800
Heegs (&2 30,000 22,000 8,000
LHEHH X = 30,000 22,000 8,000
WHEHH X = 30,000 22,000 8,000
[(VZPIETSE = 30,000 22,000 8,000
01 JI=d&E=S 30,000 22,000 8,000
OSANAHEYH =H0tE NS HE=
30,000, 0002 =14 30,000
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